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0.4N FeClz+4N CH3;COOH 0.1658 0.3315 B
0.4N ZnCl,+4N CH;COOH 0.1088 0.2115 S
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0.4N FeCly+ 4N HCI 100 40 0.2055 0.4821 S
0.4N FeCly+ 4N HCI 100 50 0.2168 0.4956 -
0.4N FeCly+ 4N HCI 100 60 0.2726 0.5989 SR
0.4N FeCly+ 4N HCI 100 70 0.2166 0.4952 ke
0.4N FeCly+ 4N HNO;3 100 40 0.1998 0.4252 2’4«%
0.4N FeCly+ 4N HNO3 100 50 0.2088 0.4885 2’4«%
0.4N FeCly+ 4N HNO3 100 60 0.2502 0.6028 S
0.4N FeCly+ 4N HNO; 100 70 0.1920 0.4022 T%E I
0.4N FeCl+4N H>SOs« 100 40 0.2021 0.4622 Sy
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0.4N FeCl+4N H.SO+« 100 60 0.2669 0.6088 i
0.4N FeCl+4N H>SO+4 100 70 0.1055 0.4821 FE e
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